PROFESSIONAL EXAMINATION BOARD

Group-3 Technical Selection Test 2016
5th April 2016, 09:00 AM

Topic:- G3_General Knowledge
1)

Question Stimulus :-
General Knowledge

In which district of Madhya Pradesh, the Pathakhera, Sarni coal mines are

situated? / TTYRAST $1 IRVY ST @R, 79 W & 59 fore & R« g2
« Hoshangabad / BI=TEIG

® Sehore / WER

e Betul / 9gd

e Satna / Hd-l
Correct Answer :-Betul / aﬂ?r
2)
Question Stimulus :-

General Knowledge

Who is the speaker of Rajya Sabha? / I JHT & JHTUTd B &2
¢ Sumitra Mahajan / JfA=T geH
e Hamid Ansari / gIffe iRt
e P.J. Kurien / W.9. %R
« Najma Heptullah / TS| gUdeAT
Correct Answer :-Hamid Ansari / g1fg 3R

3)

Question Stimulus :-



General Knowledge

The Rajat Jalprapat is located at , Madhya Pradesh? / Hed USH |
ToTd STvaTd H fRa 82

e Panchgani / G-I
e Pachmarhi / GgHg!
e Mount Abu / HIST 3§

e Betul / 9qd

Correct Answer :-Pachmarhi / GgHd!

4)
Question Stimulus :-
General Knowledge

Who discovered the light bulb? / TSI g¢d ®1 Wil fFa H1?

« Edison / Tf$uq
e Einstein / 3TS¥ers+
e Mary Curie / ﬁ'ﬁ?{ﬂ
e Newton / <cH
Correct Answer :-Edison / Bf&94

5)
Question Stimulus :-
General Knowledge

The numeric scale, which shows addla% and basicity of an aqueous

solution? / el OId & AT 3R &1 B! fe@MaTaT Jife AU 371 € 82
e dB / Sidl

e yH / T4



 pH / WiTH

. qT / TG
Correct Answer :-pH / ditd
6)
Question Stimulus :-

General Knowldge

To whi%ch sport, Aslam Sher Khan is related to? / 3ddH W EHE fFg @a A
gafera g2

Cricket / fohde

Football / Fedid
Basketball / SR&bcdld

Hockey / il

Correct Answer :-Hockey / 8!

7)
Question Stimulus :-
General Knowledge

The Military headqqarter of war is situated at ./ & BT af e
q=ed o fRm@ 3|

« MHOW / UWg

 Bairagarh / RTTE

e Bhopal / HIuTed

e Gwalior / qIferaR
Correct Answer :-MHOW / Hg

8)



Question Stimulus :-
General Knowledge

The district of Alirajpur of Madhya Pradesh was formed aft.er splitting from
. / AT YR & SRIRTIQR fora &1 fAmfor ¥ dear & 91 goll

YTl
e Jhabua / HAJ3T
e Dhar / YR
e Indore / sa'\’

« Khandwa / disdl

Correct Answer :-Jhabua / SIgafT
9)

Question Stimulus :-

General Knowledge

Amarkantak is the highest elevation of ranges. / RdcH
udd Afor @t wate S8 8|

Vindhya / fdea

Satpura / ddq1
Aravali / 3RTaal

Sahyadhri / J&Tst

Correct Answer :-Vindhya / fd&a

10)
Question Stimulus :-
General Knowledge

The Madhya Pradesh is covering approximately %o of the
country’s area. / S & &F BT T % HTTT AT USSR | SHT g3 &)



2/R
5/4
10 / R0

15 /4

Correct Answer :-10 / 20
11)

Question Stimulus :-

General Knowledge

Maximum strength of Rajya Sabha is: / I0 9HT P fRAaH HBT 8:
e 250 / 4o
e 285 / U\
e 310 / 320
e 330 / 330
Correct Answer :-250 / 4o

12)
Question Stimulus :-
General Knowledge

The sculptures of Khajuraho of Madhya Pradesh are dedicated to Lord

? / U YR Pl WYRTE! ®t Jfddar Wra oI Jaffa g2
e Krishna / $WIT
e Buddha / §&I

e Mahavira / HgAR
e Shiva / RRra



Correct Answer :-Shiva / Ri@

13)
Question Stimulus :-
General Knowledge

Madhya Pradesh is NOT the largest producer in India for which of the
following? / f3u 7T faweul & A ALy USR YRT &1 fPTDT I8 IUGH 8] 82

« Soyabean / JOEH
e Pulse / cqld
e Garlic / degd
e Cement / diHe
Correct Answer :-Cement / dife

14)
Question Stimulus :-
General Knowledge

Which of the following cabinet minister in Central government is NOT a
Member of Parliament from Madhya Pradesh? / fAgfafead § @ 5 WeR &

B A HEIF 7o A UGY P HAG P TG ol 82
 Uma Bharti / JHT HIRdl
e Sushma Swaraj / JUHT ¥R
e Narendra Singh Tomar / = Rig IR

e Thawar Chand Gehlot / YTaR d¢ Tgdd

Correct Answer :-Uma Bharti / 3HI HR!

15)
Question Stimulus :-

General Knowledge



The process through which the digestive tract of a patient is examined
through a flexible tube with camera and light is known as: / uferar forae
ATead F I B U 7F B ST TH T g P GRT PR SR TSI & AT A Bt
Tl 8 39 FEd &

« Sonography / JHRITHGT
e Endoscopy / 3w =i S"
e Mammography / AFTEL
e Barium test / afvaw gdieror
Correct Answer :-Endoscopy / 3w Hﬁﬁﬁ'ﬂ

Topic:- G3_General Hindi
1)

Question Stimulus :-
Hindi
Tfde d | fawsg gim-
o qI+5H
« AT+3H
e AI+3®H
o AT+fa®

Correct Answer :-1+3®
2)
Question Stimulus :-
Hindi
W’ ® S @ |@fY 8-
o fat e
o TOT fY



o goT Y

« T8 A B T
Correct Answer :-guf Hf¢J
3)
Question Stimulus :-
Hindi
P’ g BT faeld ghm-

Correct Answer =444

4)

Question Stimulus :-

Hindi

TR ford Trsgl A o1 W8 [ 82

Correct Answer :-®HaREl

5)

Question Stimulus :-



Hindi
\3A’ BT gaTaar eg gHII-
o T
» P
e HHY
° '\ﬁw
Correct Answer :-g4T
6)
Question Stimulus :-
Hindi
3P Gl F oY TF Weg FT T97 PfoTe-

o HIER

Correct Answer :-HI&R

7)

Question Stimulus :-

Hindi

frafafea ot 9 9 firg I3 31 999 Fifoe-
o UIY:

o AW



o Hdar
° ag‘%ﬂ
Correct Answer :-3[@¥R
8)
Question Stimulus :-
Hindi
TP T & o AP Teg §; St 3w <reg 39 AR F LY o 8- a€t SR Fh-
- fIE
. @9
o 3R
o UPfa
Correct Answer :-U&fd
9)
Question Stimulus :-
Hindi
‘o 2 & It ghm-
- fag
e iR
. fa
o 3
Correct Answer :-fa

10)

Question Stimulus :-



Correct Answer :-3iidt
11)
Question Stimulus :-
Hindi
QY § FHY gI-
« HHYRY
- T8
o dgey
* &%
Correct Answer :-ddo¥
12)
Question Stimulus :-
Hindi
‘U IRE BT Yera &1 3 gm-
o« WIH Bl oY
o FoId ST
. aferE g



o 9gd G T
Correct Answer :-dTH g dTH

13)
Question Stimulus :-
Hindi
fFrafafad o gx a9 <1 997 Hifore-
o URA ¥ DI oAl &
e URA ¥ AP A1faal 3|
e YURA H DI AT B
e URA H A W1 &1
Correct Answer :-HRd ¥ 3 el 3

14)
Question Stimulus :-
Hindi
Wi TR W Rig &1 qarew g anfge-
° QTg‘HTEﬂ'
o ITSTHIHT
o R HIHT
o HTGUTHT
Correct Answer :-HIJHTUI

15)
Question Stimulus :-

Hindi



HIba’ & TAAOR DI 82
AfyefizRor

SIURH UG

YR R feTes

weTed! af

Correct Answer :-BfIIRRT T

Topic:- G3_General English
1)

Question Stimulus :-
English
Fill in the blank.

I hope it doesn’t rain, when she

 leave
e leaves
e is leaving
 has leave
Correct Answer :-leaves
2)
Question Stimulus :-
English
Identify the given sentence.

Would you like to order anything else?
e Interrogative

e Imperative



e Exclamatory
 Declarative
Correct Answer :-Interrogative
3)
Question Stimulus :-
English
Fill in the blank.

It was so that I had to shield my eyes.

e light

e dark

e dim

e bright
Correct Answer :-bright
4)
Question Stimulus :-
English
Fill in the blank.

I will bring it the next time I

e will come

e come

e came

e am coming
Correct Answer :-come

5)



Question Stimulus :-
English
The following sentence is split in three parts and each one is labelled (A),

(B), and (C). Read the sentence to find out whether there is an error in
any part. Letter (D) signifies a ‘No error’.

I am understanding (B) everything that is (B) being said (C).
e A) I am understanding
e B) everything that is
e C) being said
e D) No error
Correct Answer :-A) I am understanding
6)
Question Stimulus :-
English
Find the odd word out:
Happy, cheerful, delighted, sorrowful
* Happy
e Cheerful
e Delighted
e Sorrowful
Correct Answer :-Sorrowful
7)
Question Stimulus :-
English
Fill in the blank.



The new employee tried to his boss by doing more work.

e express
e threaten
e impress
e attack
Correct Answer :-impress
8)
Question Stimulus :-
English
Identify the given sentence:
Sarah and Tina went to meet Jim but he was not there.
e Complex
e Compound
e Interrogative
e Simple
Correct Answer :-Compound
9)
Question Stimulus :-
English
The following sentence is split in three parts and each one is labelled (A),

(B), and (C). Read the sentence to find out whether there is an error in
any part. Letter (D) signifies a ‘No error’.

Everyone was very happy with him (A) as he asked (B) really stupid
questions (C).

e A) Everyone was very happy with him

o B) as he asked



® C) really stupid questions
e D) Noerror
Correct Answer :-A) Everyone was very happy with him
10)
Question Stimulus :-
English
Identify the given sentence:

Oh what a beautiful day it is!

Declarative

Interrogative

Exclamatory

Imperative

Correct Answer :-Exclamatory
11)

Question Stimulus :-

English

Complete the idiom:

He doesn’t scare me. He is all bark and no
e hurt
e bite
o take
e fire
Correct Answer :-bite

12)



Question Stimulus :-
English
Complete the idiom:

He and I agree completely. Great minds think
e Same
e similar
o different
o alike
Correct Answer :-alike
13)
Question Stimulus :-
English
Which of the below given words is spelt correctly?
e Ocasion
 Occassion
e Ocassion
e Occasion
Correct Answer :-Occasion
14)
Question Stimulus :-
English
Which of the below given words is spelt correctly?

e Narrative

e Narative



e Narrattive

e Narattive

Correct Answer :-Narrative

Topic:- G3_General Maths
1)

Question Stimulus :-
Maths

Priyanka deposited a sum of money with a bank, paying r% per annum
compound interest. It doubles itself in 8 years. In how many years the
ratio between principal and interest earned would be 1: 3? / g 9 &
g IR B MR% Ui ATAHT & Thqfs arel & TR ST Il 81|98 ¢ I |

& AT B SraT 2] fba) aul |1g qawd iR ST & i P SUTd 2:3 8 SIe?
e 16 years / & 9Td
e .4 A / 15.5 years
e 24 years / ¥9Hld
e I / 14 years
Correct Answer :-16 years / & dTd
2)
Question Stimulus :-

Maths

Aditya, Bimla and Carol work in a company. The ratio of age of Aditya and
Bimlais 13 : 11 and ratio of age of Bimla and Carol is 11 : 14. If the sum of
their ages is 76 years, what is the difference between the age of Aditya

and Carol? / 3fed, fawar 8k Fa TP & $U-l # HH Hd g | 3nfey MR fawar &1
IU BT 3UTT 23:22 & 3R fAwar Sk A Y 3Y F7T 3urd 22:2¥ 3.3 ISP I F1
TRT 0§, § df 3Tfee iR HRa & dig B U &1 3fdr FaTL?

e 3years [/ :um

e 1 year/:um



e 2years /R 9Uld

e 4 years / s 3
Correct Answer :-2 years / R 9Id
3)
Question Stimulus :-

Maths

What is the value of sin®A + 3sin2Acos2A + cos®A? / sin®A + 3sin2Acos2A
+ cos®A &1 °F Fad?

* 2 /R
e -1/
e /R
e 1/%
Correct Answer :-1 / 2

4)
Question Stimulus :-
Maths
Find the value of fifth decile of the following series: 10, 12, 9, 11, 23, 18,
19, 13, 21. / FafafEd oo & vigd =me &1 a9+ fAex:
29,2R,R,2%,%3,2¢,%R,23,R2

e 23 / 3

e 13/ %%

e 18/ 2

e 11/ R

Correct Answer :-13 / 3



5)
Question Stimulus :-
Maths

An urn contains 3 black, 4 green and 2 red colored balls of identical shape
and size. A ball is drawn at random from the urn and a ball is again drawn
at random without replacing the previous ball from the urn. What is the
probability that both balls are red in colgr? / % $A% # U PR 3R H1Y
& 3 BT, ¥ B S 3 14 I & dict 79 §| TP i Ho< A Sff-rafird fig ux ¥aifed »t
STl 8 3R U aiet fib St | ugd & i $I SHTe 3 gerg {31 &1 sifrafi fig w
Ygifhd F1 ot { Ifpat TwimamT & 6 S afer &1 301 ol & 82

e 1/36 / /3%

e 1/72 [/ /R

e 1/64 / /&¥

e 1/81 / U
Correct Answer :-1/72 / /OR
6)
Question Stimulus :-

Maths

The expression 3x2 + 5x — 12 is divisible by which of the following

expression? / FUffEd fad @e® A 3x® + 4x — R P fyurfora frar sirar 82
* (x-3)/ (x-3)
e (X+ 4) / (x+%)
* (2x + 3) / (}x+3)
* (3x-4) / (3x-¥)
Correct Answer :-(3x - 4) / (3x-¥)

7)

Question Stimulus :-



Maths

The angles of a quadrilateral PQRS areintheratiol1:4:4: 1. What is the
difference between the highest and the lowest value angle? / T®h am;[vr

ﬂﬂm(pqrs)$ﬂﬁ'ﬂﬁﬁr3ﬂ'¢ﬁ2 ¥:¥:% B Sftrad Sior 3R gaH Hivr & A
& o9 $T 3iav

. 36°/38°
e« 1089 / 0¢°
« 72° / OR]°
e 144° / ¥Y°
Correct Answer :-108° / %0¢°

8)

Question Stimulus :-

Maths

The average age of Harshil and Harshita who were married 10 years ago
was 24yrs. The average age of the family including Harshil the husband,
Harshita the wife and the Hitesh the child who was born during the
interval is 25yrs. What is the present age of Hitesh? / gitfar ofr gftfar

ot =Ml 20 T U Y T $t 3iyaw 39 # g8 A ufvar @t siwa 3u wfed siifa

ufa, uelt ftfar 3iv ST T fRawr forae®T 9= 25 I1d & 3favTd & SR g3
wi%ﬁvra?ra?hﬁarrgw%?

e 5years / K HId
e 6 years / & Ild
e 7 years / o dld
e 4 years / ¥ Ild
Correct Answer :-7 years / © 9ld

9)

Question Stimulus :-



Maths

A passenger train, 200 metres long is running at a rate of 45 km/hr. How
much time would it take to pass a certain lamp post? / Y00 Hie3 dW TS FI
Maﬁq%ﬁ/ﬁaﬁaﬁm%ﬁwﬁ%aﬁﬁwﬁmmﬁasmﬁm
JHY ?

« 18 secs / 3¢ AHS

« 16 secs / & HPsS

« 20 secs / Y0 AHs

« 21 secs / L 9P
Correct Answer :-16 secs / & &S
10)
Question Stimulus :-

Maths

ABC is a smallest 3 digit number which when divided by 3, 5, 6 or 4 .Ieaves
remainder 1 in each case. What is the value of A+B+C? / Tl 3 3iwl &t
mﬁmﬁmm%maﬁsma 3R ¥ | YT o § o) A9  Faar ) T+ a1
= 2

e 3/3%
c4/%
*5/4
*2/R
Correct Answer :-4 / ¥

11)
Question Stimulus :-

Maths

A cubic equation x3 - 3x2 + 5x - 17 = 0 has three roots A, B and C. What is
the value of A + B + C? / T U1 GHIHRUT x? - 3x} + 4x - 0 = o & <9 qd



g, d1 3R 3t & v+ f+3f &1 7 AT
1/2%
17 / 9

3/3
*5/4
Correct Answer :-3 / 3
12)
Question Stimulus :-

Maths

A number is first decreased by 20% and then increased by 25%. What is
the net change in the number? / T% HEIT ®I Ugdl 0% TN ST § 3R e
4% FSTaT oraT 8 | e § fAfda ufvads w82

e +59% / +4%

e — 590 / -4%

e 0%

o 2.59% / .4%
Correct Answer :-0 %

13)
Question Stimulus :-

Maths

If |]a] = 10, |b] = 2 and a.b = 12, what is the value of |a x b|2? / SR |TQ|
=20, |§f1| =3 and T.d = R,dl |T x F|} T uA FFw?

* 16 / &
* 256 / 4%



e 4 /%

e 28 / ¢
Correct Answer :-256 / 4&
14)
Question Stimulus :-

Maths

If y = logelogeX, find the value of dy/dx when x = e. / 3Ry = Iogelogex,?ﬁ
Wd x = e AT Al dy /dx &1 4H fAo1d|

e 1/%
e e
* 1/e /?/e
e 0
Correct Answer :-1/e / /e

Topic:- G3_General Reasoning
1)

Question Stimulus :-
Reasoning
The numbers are changing in a specific order in the given series. / & T
s & wend v kg w0 7 uiafaa 8 @ 8
11,12,14,17, 21, 26 / %%, 2R, 2%, %9, %, 8%
What will come next in the series? / §9 §GdT # 3RTAT (& T T2
* 32/ R
e 35/34
e 30/ 30

e 38/ %



Correct Answer :-32 / IR

2)
Question Stimulus :-
Reasoning

Find out what will come later in the given alphabet series. / <! T} quinTen
D TAT | B9 AT 916 | SMEM?

A ZB,Y,C X, D, W
e G, U
¢ J,Q
e E,V
e L, R
Correct Answer :-E, V
3)
Question Stimulus :-

Reasoning

Mother of Neha is the only daughter of Sunil’s father-in-law. How is Sunil
related to Neha? / g1 3 6f a0 & TR & sHad T 2| T a1 @ 5 o
T 82

Uncle / dTT

Brother / 'l-l'l's‘

Grandfather / <lal

Father / foar

Correct Answer :-Father / fudl

4)

Question Stimulus :-



Reasoning

A man facing East starts walking for 4 km in the same direction then turns
to his right and walks for another 4 km and again turns to his right and
walks for 4 km and then stops at a flower shop. In which direction is the
shop from his originating point? / UT& e ot ﬁ? P 3R oo 4y g st
fe=m o ¥ it awmuméﬁwatﬂsﬁ?aswxwmg@ 3R fpe 3 ordl
3R g HX ¥ 5t Taar 8 MR fie Eal 1 T b= R I odl 8| T8 ghH S9d
URY ﬁg 9 fow fo=m ¥ @ g2

e North / ST

e South / cf&mr

. East/qﬁ
. West/le%I'FI

Correct Answer :-South / &f&ur

5)
Question Stimulus :-
Reasoning

In the given series, find out how many prime numbers are there which are
followed by even numbers divisible by 3 and are preceded by odd

numbers. /'q‘TTl'd’f ﬁﬁwm@ﬁ%waﬁweﬁnﬁﬁmﬁaﬁ%aﬁ
mﬁ%wﬁmﬁaﬁr%ﬁamwﬁ%

1,3,6,4,9,7,18,11,24,15,13,30 /%, 3%, &, %, %,9,2, 2% %, W, %%, 3
*3/3
e 4 /%
* 2 /R
*5/4
Correct Answer :-3 / 3

6)

Question Stimulus :-



Reasoning

How many degrees does the minute hand of a clock move in 1 hour? / 93}

& firFe &1 ddbdae ¢ U § fraq f&3h gu wmar 82
e 720 degrees / 9o &
« 360 degrees / 3&o &t
« 270 degrees / Vo &
e 180 degrees / 2o feaht
Correct Answer :-360 degrees / 3&o f&iht
7)
Question Stimulus :-

Reasoning

In a certain language TOUGH is written as TMUEH. How will HISTORY be
written in that language? / T& HTYT # TOUGH & TMUEH ferRar Sitar 81 39 HrwT
# HISTORY &I {9 UaR A forar Sam?

« HHSSOQY
« HISUOSY
« HGSROPY
« GIRTNRX

Correct Answer :-HGSROPY

8)
Question Stimulus :-

Reasoning

If / afe,

1. A~B means A is sister of B / AnB BT 38 fF A, BB 9878
2. AAB means A is brother of B / AAB BT IY 2 fF A, BHT S 2
3. A*B means A is son of B / A*B &7 314 8 f& A, Bﬂﬂﬁ%



How does R related to Q in Q*P~R? / dl Q*P~R # R, Q A &Y UsR Twfid 82
 Brother / ‘3-IT§

o Sister / dgH
e Aunt / 9=

e Grandfather / <lal

Correct Answer :-Aunt / Tl

9)

Question Stimulus :-

Reasoning

In a certain language / T&d HIUT H:

1. ‘kee nup lin’ stands for ‘many beautiful girls’ / ‘kee nup lin’ &I 3y g
‘many beautiful girls’

2. 'kee gir roe’ stands for ‘few good girls’ / ‘kee gir roe’ &I GI‘J% ‘few
good girls’

3. ‘gir nup baw’ stands for ‘few beautiful rose’ / ‘gir nup baw’ &I Y g
‘few beautiful rose’

What does ‘Rose’ stand for? / dl ‘Rose’ T 3d 1 %?
e Kee
e baw
e gir
* roe
Correct Answer :-baw
10)
Question Stimulus :-

Reasoning

Observe the figure below. Which side will lie opposite to the side of one
dot when the paper is folded to form a cube? / i feu e i 9 39| wiE ?d



SIS B MISHY SHPT U U9 §=141 WY ot Fryy & § o) a1 wief vep &g & wisf &
faudta fe=m A ugwm?

&

Ry

o

4/%

2 /%
3/3
+5/4

Correct Answer :-4 / ¥

11)
Question Stimulus :-
Reasoning

What is the angle between the hour and minute hands of a clock when the

clock strikes 3 o’clock? / 5§ U3} 3 guITdl € df 59 He 3R fiAe Ydbaem! & g &1
ST T gl 82

e 90 degrees / R0 f&h
« 180 degrees / %¢o &t
e 320 degrees / 330 f&h
« 270 degrees / o &
Correct Answer :-270 degrees / Q9o f&h

12)

Question Stimulus :-



Reasoning

Four friends Suresh, Mahesh, Jayesh and Lokesh went to get a group
photograph clicked. Mahesh was sitting left of Lokesh and Suresh was
sitting on his right whereas; Jayesh was sitting between Mahesh and
Lokesh. Who would be second from the right in the photograph? / dR o
IR, HeW, SN 3R AP TP AHfed Bienw f&aaq Iy # U 78, AP & 18
3T YT 3T PR 3T oY 3R 6T AT Safh; AW, AW R AP & §F § 937 Y11 o
BIETE § RiY 3R I GO VI WR S g2

e Mahesh / HgYI
e Lokesh / GIG ]

e Suresh / '\fﬁ'ﬂ

e Jayesh / S
Correct Answer :-Jayesh / Crp|
13)
Question Stimulus :-

Reasoning

One evening Jaya and Kusum were talking while standing facing each
other. Jaya’s shadow was falling on Kusum'’s left side. Which direction is

Jaya facing? / T& XITH o7 3R $UA TH GOY B 3R & S Gg gIdY d1d D a1

glwaﬂmwaﬂmmﬁﬁﬁvﬂlwm%maﬂaﬁ?wﬁﬁ@w
?

East/qﬁ

West / Uf3#

North / 3™

South / &f&for

Correct Answer :-North / 3%

14)

Question Stimulus :-



Reasoning

Following are the statements numbered 1 and 2 which are followed by a
set of conclusions labelled I and II. Which of these conclusions are most
obvious in relation to the statements given below. / fRgfiRad &y 31 2 sk
R gwna ¥ ffea forar mar g ok 399 wwefyd 1 ek 11 fafRd fd v SuweRl &
=g feu e 82 R U $yAl & He A $i9 | IUHER e SuyE 8?

Statements: / $YH:

1. No horse is donkey. / ?:Iﬁ".{' 'J-ﬁEﬁSTﬂ%rTT-Iﬁ%I
2. No donkey is human being. / Hﬁﬁ ‘l-ﬁﬂﬂTﬂTjWT-l’cff%I

Conclusions: / SUHER
I. No horse is a human being. / aﬁ—s‘ ﬁ-ﬁﬂﬁﬁﬂﬁwqﬁﬁl
No human being is a donkey. / 1§ iﬁﬂﬂ'&lﬂ%ﬂﬂﬁgl

e Only I/ ®Haal
e Only II / %ad II
e Both I and II / G I 3R II
e NeitherInorII /FAITTIIG
Correct Answer :-Neither I nor II / 9 Il 9 II g

Topic:- G3_General Science
1)

Question Stimulus :-
General Science

Light year is a unit of measurement of: / UPT a4 SHIS 2 98 HIU &:
« Speed of Light / USRI &1 Tfd
e Stellar Distances / F&3ta gikar
« Rocket Speed / &b P Tfd

e Wind Speed / a1g &t Tfd



Correct Answer :-Stellar Distances / derg W

2)

Question Stimulus :-

General Science

Water is neither acidic nor alkaline because: / & =T d 3= g 3R T &
& Fifdb:

It doesn’t receive or give protons / 9g WIY[ (L‘ﬁﬁ-‘-l) U T S a1
oAl §

It's got a high boiling point / $®T HYFi® 3 &

It can dissociate into equal number of hydrogen ions / g JHIH

BT gTgeH M-l # 3Rt (fagfed) gt gwar @

It doesn’t receive or accept electrons / Ig fagaqy (Sadeiq) UIw
g1 M 81 Ha1 8

Correct Answer :-It can dissociate into equal nhumber of hydrogen ions / g

U I IS Al # R (Fafed) & goar @

3)
Question Stimulus :-
General Science

The Rate of Chemical Reaction Is Independent of: / IS ufdfehar &1

TN Wdd g
e Concentration / Higdl
o Catalyst / ISP
e Temperature / dIUHTA

e Pressure / qld

Correct Answer :-Pressure / qId

4)



Question Stimulus :-
General Science

Epoxy Resins are most commonly used for making: / ?{lﬂﬂ'\‘ﬁ M (ﬁ?) Ca|
Haifie IUGRT HMH=Id: 98 91 & T gidr 8:

« Moth Repellants / Ta™ (J@¥) fawd® (ufaRiu®)
e Insecticides / DI
e Detergents / U&Tcdh (‘\’ﬁ‘iF-ﬁ)
e Adhesives / 3RV (Tq)
Correct Answer :-Adhesives / 3R (M)

5)
Question Stimulus :-
General Science

Prism is generally made from: / svhd 3™Ad (ﬁl‘\ﬂ) HIYRUT: ?{\‘Iﬁ faffa grar 8:
¢ Flint Glass / 95u® (ftic) &g
« Tectonic Glass / ¢aci-l® BId
e Wood Glass / Wﬁﬂ
« Soft Glass / THA (AW) ®Ig
Correct Answer :-Flint Glass / Y®H® (fﬁi‘c’) PIg

6)
Question Stimulus :-
General Science

Aluminium is generally used in Exothermic Welding because: / SeaTadt

FraTs (AfET) # JIURvE: TgHitaw &1 Iuah giar € wife:
e Aluminium is a light metal / TegHaW TS gl UTd &



e Aluminium has more affinity for oxygen / Qﬂ'ﬁﬁ'ﬂ'ﬂ H SfTRite
& fog aiftre smadur g

. AIuminiym is a strong oxidising agent / Wﬁﬂﬁ@m
RS (TRIPR®) 2

« Aluminium is a reactive metal / TegHif-ay ts ufaferarie ug 3

Correct Answer :-Aluminium has more affinity for oxygen / EFg'Fﬂﬁ'CI'H |
it & forg siftre sirardur @

7)
Question Stimulus :-

General Science

Gastric glands are present in the wall of: / ST (SMHRIR®) U4l su fHf
# 3rafRud gidt 8

e Oesophagus / DG

® Stomach / IR

« Small Intestine / &% 3

e Large Intestine. / ¥8q 313
Correct Answer :-Sstomach / 3&X

8)
Question Stimulus :-
General Science

The Unit of Intensity of Sound is known as: / afy &t ?ﬂﬁ?ﬂﬁﬁlﬁﬁ?ﬂ?ﬂ%
e Kelvin / &fca
 Voltage / drees
« Decibel / SRaw
e Mu/ ¥



Correct Answer :-Decibel / SRyaa

9)
Question Stimulus :-
General Science

In the game of cricket, the old cricket ball due to the concept of

1%_grodynamics: / fopdhe & @4 ¥, arguifas! & Rigia & SR R (W) fhde
« Starts swinging intermittently / 3Ridd (3ifFRaR) giaq (fagem)
URY HdT &

e Starts swinging away from its shiny side / ISP THHGR Jdg 4
o (gR) are () URY ST 8

« Starts swinging towards its shiny side / 9% TH®HGR Hdg &i
3R e (fae) URY H3a1 8

« Starts swinging alongside its seam thread /39% Jf¥ (Rrams) &
3uTy S URY HYar 8

Correct Answer :-StaI:tS swinging towards its shiny side / ISP HHGR e
ot 3R red (faee) URY war 8

10)
Question Stimulus :-
General Science

In which of the followin . medical procedure, a sm.aII portion of the oviduct
is removed? / fAufafad # @ #19 A Rifvcsa ik A, fswmafz (fewa-afeen
BT TP &% 3 YYS H a1 S 82

« Intra-Uterine Contraceptive Device Placement / 3fid:-TTHIIR®
T RIY® a3 WU

e Tubectomy / fSangwI=deT (Afgar F9ad)

« Vasectomy / Y[hallgdiesed (JoY Add)
e Barrier Method / 3@RI¢Y fshar



Correct Answer :-Tubectomy / fSWaid®dI=d¢q (afgam FHad)

11)
Question Stimulus :-
General Science

The Indian Institute of Science at Bangalore was found by: / dTaR fRE
YR a3 IR 39 & gRT RIfud &1 718 A:

e Mr.C. V. Raman / 9t l. &, 399

Netaji Subhash Chandra Bose / AdTelt JHTY I a4

Mr. N. R. Narayana Murthy / f} T4, 3R, IRM™UT gfd

e Mr. Jamsetji Tata / Y SRS eTeT
Correct Answer :-Mr. Jamsetji Tata / i STHRISI eTeT
12)
Question Stimulus :-

General Science

Combustion of a candle is a / §U® (%?r) DI g (STeI-T) %W
e Photochemical reaction / UGTRI-IA-® Ufdafsar
« Endothermic reaction / A=Y ufafear
« Exothermic reaction / &wT1&Y ufafear
e Natural reaction / UIgTa® ufafear

Correct Answer :-Exothermic reaction / StH1&} Ufafssar

13)
Question Stimulus :-
General Science

Which of the following elements is NOT present in Stainless Steel? /



fafafad & ¥ 19 91 9 SR 3/ (R0 W) § IufRua 181 82
e Tungsten / TUSTY (STE)
e Iron/ Fﬁ's’
e Chromium / 9uiiq (IffaH)
e Nickel / firere (fa)
Correct Answer :-Tungsten / JUSIg (¢TR<A)

14)
Question Stimulus :-

General Science

A Dynamo converts: / T& fagad Sqe® (ST FURd BT 8:
« Mechanical energy into Sound energy / TifA® ol &I @@= SHot &

« Mechanical energy into Electrical energy / Jifi® &4l &I dgafas
ol |

« Electrical energy into Mechanical energy / dgafa® et &1 T
ot & Gifi® St @) dgaii® et &
 Electrical energy into Sound energy / agum oIl &I @i St |

Correct Answer :-Mechanical energy into Electrical energy / Tifa® St &l

dgafae St A

Topic:- G3_General Computer Knowledge
1)

Question Stimulus :-

Computer

One billion bytes equals to: / Tdh 3RRd EITEE‘E’H% H'FIT-'-I%:
* Kilo bytes / fodl a15¢
« Giga bytes / T a15€



e Bytes / dIgC

. Bit / fae
Correct Answer :-Giga bytes / | CIE
2)
Question Stimulus :-

Computer
Word processing and spreadsheets are the examples of which of the
following software? / s Ufhdr (98 URIRIT) U9 faaR-yy (Visslie) Fafafed &
A PN & T P IGERT 2

« System software / URAT T

e Embedded software / 3f-ifgd a1

o Application software / 3UIRT d~AI=T

e Operating system / UdTeH dF
Correct Answer :-Application software / GIT;I'*ﬂ'lT GECIb

3)
Question Stimulus :-
Computer

What is known as the brain of the computer system? / I T3 T ARITSD

f5a wgd 82
« RAM / ¥
e ALU / TUTY
e Logical unit / H‘IWWI%
e CPU / diig
Correct Answer :-CPU / Hiiig

4)



Question Stimulus :-
Computer

Which language is more suitable for structured program? / TRfed HHIGKT &
fRore #19 dY yrwr ik Iuge 82

e C Language / GRS
 Basic / af¥i®
e Cloud computing / 9 U (FAT3S HHfET)
e Pascal / U hd
Correct Answer :-C Language / IR
5)
Question Stimulus :-

Computer

The language which was developed by Dr. Seymour Aubrey Papert is: / 3.
IR 3ife urad gRT fawRia ymT 8:

« Cobol / ®iaid
e Logo / A
e Pascal / UR&d
o C++ / H++
Correct Answer :-Logo / |arm

6)
Question Stimulus :-
Computer

Which of the following network is a packet switching network? / fAgfafada
# A $IF 9T dFee TP Yfeier uiad (RafxiT) e 82



« Frame Relay / 93941 YHRUT (%H )

« Ring network / &9 d3eid (71 Acas)

« Both of the above / IWRtad I

* None of the above / mﬂﬁﬁﬁﬁ?-‘lﬁ

Correct Answer :-Frame Relay / I394T YR (34 )

7)
Question Stimulus :-
Computer

What is the full form of SSI? / THTHSNS FT faxgd &u FT 82

« Small scale integration / Y W9 THIHIVN (WA A SEHIRM)
« Small scale interrogation / @Y WA URUY (T WA SEIRNITH)

« Small scale interpreter / g WRIY JAlGH (VT WA SeIUer)
« None of the above / SWRIad # ¥ &I a8l

Correct Answer :-Small scale integration / Y TR Qﬂﬂw (Fﬁ'ﬁ T

ECDRIE)

8)
Question Stimulus :-

Computer
ASCII code is: / TTIHITE3MME (ASCII ) Fe B:

- American security code intelligence information / 3RR®! JReam
$c AU GIT (SARET Rt wis gefenia sawHRE)

e American standard code for information interchallge [ AT
IMEH-USH 2q AR A P (SARPT WSS B BR STGHIH
o)

e American scientist code for intelligence interchange / i)



3MET-YH 8q 3Rt duife ge (smie AR ol vik efrsia
geTd)
« None of the above / SWRIad # ¥ &I a1

Correct Answer :-American standard code for informatlon interchange /
AT STEM-USH gq SRS AF® Fe (MRBT RUSS HIs Wi SABTHIM Segd)

9)
Question Stimulus :-

Computer

A cogputer program is defined as a: / U% WUI$ HHCY HI 0 Ryt fear
olldl &:

e list of coded instructions / $eds e arferaT
e list of information / @A dTferT

e list of binary information / fg=R == arferet

e none of the above / mﬂﬁﬁﬁﬂﬁiﬂﬁ

Correct Answer :-list of coded instructions / ®cd& ﬁﬁ'&’[ GUNED]

10)
Question Stimulus :-
Computer

Techniques which is used to convert analog signal into digital bit is known
as: / GI%FU (T=x1) HFdl B AP fae  Fuiaia 31 3d Hdgd DI (dP-1H)
CASIGH

« Pulse code modulation / g $e ifefiyor
« Demodulator / faffiy®

¢ Wave code modulation / @3 %e 3fferfigor
e None of the above / mﬁﬁaﬁéqﬁ



Correct Answer :-Pulse code modulation / g $¢ ifefagor

11)
Question Stimulus :-
Computer

A remote comguter is connected by which of the following methods? /

frafifad § @ o9 A AT Q@ oo wad! Sure Tge 8T 272
e Mnemonics / WR® I Wid Jgr@® (AHD)
Assembler / IJOSH

Dial up / SIAd 3U

Digital computer / &g GUT&H

Correct Answer :-Dial up / SIId 3

12)
Question Stimulus :-
Computer

A sing.le packet in. a data link layer is known as a: / 99 §9dl TR (@ET foiw
AW) ¥ TP THd Yfeiar Heard &t

e Bit / fae
e Nibble / fAEd
e Frame / Y

 Packets / gfeig

Correct Answer :-Frame / ﬁﬂ:{

13)
Question Stimulus :-
Computer

A program that converts assembly language into machine lanquage is



kn'owB%as: / U HHISY ol WA (HISiaRe) UINT ) Fiffes HTOT § FUidRd S 98
hedIdl &:

reader / UT&® (31EX)
translator / 3AIGH (CiHdCR)

compiler / P d®d (FHIFAR)
assembler / OIS ()

Correct Answer :-assembler / LI (GI'@'EIFI'\T)

14)
Question Stimulus :-
Computer

Find 1’'s complement of 10: / 20 &I {3 R IATd Hifor:
e 00 / oo
e 10 / %0
e 11 /R
e 01 / o2
Correct Answer :-01 / o?

Topic:- G3_Mechanical
1)

Question Stimulus :-

Mechanical

The content of hydrogen in steel causes: / QTTd s | G'IE@TF[ @ AET DT PIRUT d4dT %:

e Corrosion resistance / & (SI°T) ufeRie

® Reduced neutron absorption cross-section / B¥d ﬁTIaT{ITUJ (ﬂg\l’:[) SR SIURY



* Embrittlement / HIR §HT

e Improved weld ability / SAd JUTH (gl?n'é) TRy
Correct Answer :-Embrittlement / HIR ¥9THT
2)
Question Stimulus :-

Mechanical

Subcooling occurs when the vapour / SURfaa- gidr % old qryq

e removes latent heat from the refrigerant / ufide 9 o ST
frem1fira a1 @

« removes sensible heat from the Refrigerant / U=fid® ¥ ddd!
ST FrspTRI| BT 8

e has high latent heat / 3@ W &I YR Hdl ©

« has low latent heat / 9 7w ST YR T 3

Correct Answer :-removes sensible heat from the Refrigerant / uRia® 9

Tadt ST Freh1iid HYdar @

3)
Question Stimulus :-
Mechanical

For material transportation, conveyors are used when the prevailing

conditions include: / 9T uftaga & fog, yagf~al &1 SugT a9 fHar siar g o9
T gyt & wfwferd g

uniform loads / HHIH R

materials move relatively continuously / it dddTdHP =4 I

fRaR gadt 8
routes do not vary / HRI uRafdd a1 8t
all of the above / IWRIad I



Correct Answer :-all of the above / IURIaT 9
4)
Question Stimulus :-

Mechanical

For a floating body to be in stable eqU|I|br|um, its metacentre should be /

%mﬁfﬁsaﬁﬁmm(w) | g1 & forg, s9@T awd = (AeieR) i

below the centre of gravity / {'[WTEFGTUT &5 & YUTadl

below the centre of buoyancy / SCAAHAl 5 & AeNadl

above the centre of buoyancy / Sc&lldadl PSSP
SHedadf

above the centre of gravity / To@®u &= & HHadr
Correct Answer :-above the centre of gravity / chw &5 & Headadl

5)
Question Stimulus :-
Mechanical

Conveyors are used when the material is transferred under which of the

following conditions? / Fufefaa # ¥ fbg srawu # Il & RIFEERT g9 W
Uaguial &1 SUURT gidT 82

e Continuous transfer of materials / IR &1 fARaR RIHidaRuT
e Uniform loads / T HHT HRR
« Fixed routes / fAaa (sraf¥adf) anf
e all of these / SWiad It
Correct Answer :-all of these / IRIaT g

6)

Question Stimulus :-



Mechanical

When the product is produced with Rs.2000 fixed cost and Rs.20 per piece
as variable cost by one method and with Rs.1500 fixed cost with Rs.30 per
piece by second method, then the break even quantity for both methods is
given by: / 919 fdl IdTE &I TH AT §RT Rs.3000 RX ARTA TF Rs.0

ANTd Ufa 51 wd gt faftr gRT Rs.q4o0 fRR @RTd Td Rs.30 uRadsiie arma ufd
3PS W IATed fHar wig, @Y syg faftal 39 s1FRfed arn & 39 grR1 exifar =i 8:

e 45 / ¥y

« 49 / ¥R

e 50 / Yo

. 55/ 4y
Correct Answer :-50 / 4o
7)

Question Stimulus :-

Mechanical

In Breakeven point: / gIf-Rfgd fdg #:
o total cost is less than the sales revenue / $d ¢d, fawa ema @

A g

e total cost is more than the sales revenue / $d @FT4, fawa 3ma |

3w g1 8

« total cost is equal to sales revenue / $d dNTd, fa®a oM & IuH

g e
« none of the above / SWRIad H I &I 6l

Correct Answer :-total cost is equal to sales revenue / $d dNId, fawg ema &

FHH BT §

8)

Question Stimulus :-



Mechanical

The expansion ratio in steam engines is the ratio of / 9 sﬁrFﬁ A fowrR
SUTd DT 3UTd BidT 8

clearance volume to swept volume / SRt maa- geT yuidd
ST

swept volume to clearance volume / UIfUd 3mad+ deT Uil
ATAd-d

cut off volume to swept volume / fas¥e® 3made g1 yafda smaa+

swept volume to cut off volume / YITUd M deT fade® mada

Correct Answer :-swept volume to cut off volume / yafdd SmadH deT ﬁ%ﬁﬁ?
ATdq

9)
Question Stimulus :-
Mechanical

In handling materials during manufacture of cement, which among the
below given options is widely used? / IS ot (s T’f / HiHe) & IdeH &
9y 9l & sgagR H, Y uew #19 - 91 Ay Aue U A suagd giar 82

« Bucket elevator / Sl IUTUF (e Telder)
e Fork Lift truck / fa=Nf&d SIS a8 (Wid [ATwe eF)

 Belt conveyor / UgT Hdg-

« Drag chain feeder / HUUI §TAT HHR®H
Correct Answer :-Bucket elevator / SIddl SIS (W Qﬁﬁ?\’)
10)

Question Stimulus :-

Mechanical

Which phenomenon is NOT used in the property of hardness: / $ORd P faQuar & i A
gf¥eedr T SUINT &1 gidr:



* Indentation / GqRdl

® Fracture / HoH
e Wear / &Y (\_rﬂ'Uh)
® Scratch / TR

Correct Answer :-Fracture / Hol1

11)
Question Stimulus :-
Mechanical

The ductility transition temperature can be increased by alloying the combination of which materials?

/aﬁﬁgﬁwﬁlﬁ%w%&rmﬁﬁwﬁmﬁmﬂmﬂaﬁh%mw
&l 82

Mn and O, / Mn T4 0,

Fe and Mn / Fe Td Mn

Cand0, / c¥d O,

Cu and Fe / Cu Td Fe

Correct Answer :-Cand0, / CTd 0,

12)

Question Stimulus :-

Mechanical
The sand grains stick together by the property of molding
sand. / SATs TP B fORIvaT & gRT DT HUT WRER IS 384 &

e cohesiveness / Tafd

« adhesiveness / Jgf&l
 refractoriness / 3Ua~ipdl



e permeability / URITRICT
Correct Answer :-cohesiveness / Jdfad
13)
Question Stimulus :-

Mechanical

When a rigid body is suspended vertically and it oscillates with a small amplitude under the action of
the force of gravity, the body is known as: / SId ﬁ'é HoR fUs &I daad Aefad @n oll€ Uq
98 TSAIPYY 96 & YU | Y ATATH & 1Y e B, dl 98 fUs s g:

® Second’s pendulum / LEEASIGED

e Compound pendulum / e A

e Simple pendulum / WA drad
e Torsional pendulum / faeq e

Correct Answer :-Compound pendulum / e das

14)

Question Stimulus :-

Mechanical
The velocity of a moving particle with simple harmonic motion is at the mean position. /
TR 3Tad Tfd A A=A T H01 H1 7 urey fRufa # giaT 8l

® zero / YA

e maximum /Giﬁlw
e equal / HIA

® minimum / <gAdH

Correct Answer :-maximum / 3fU&aH

15)

Question Stimulus :-



Mechanical

The flow of water in household taps, when it is open position is / STd YT §31T G-T, a Eﬁﬁﬂ?ﬁ s |
e o1 YdTg Bl &:

® |aminar/ fa=aREa

® unsteady/ 3RR

® uniform / HHEY

® rotational /?-Iﬁﬁ'q
Correct Answer :-unsteady / 3R
16)

Question Stimulus :-

Mechanical

Seam welding is: / ?ﬁﬂ?%ﬁﬂi%
 a continuous spot welding process / T®h fRaR ﬁg T.=EI?I'I'5c ufesar
« an arc welding process / T dgafd® AT Uishal
« an electrode beam welding / T fagagy faur gramg
« a multi spot welding process / Wﬁ-ﬁgmm

Correct Answer :-a continuous spot welding process / T&% ffRaR fdig srams
wferar

17)
Question Stimulus :-
Mechanical

Which form of the iron is having existence between 910° C and 1403° C? /

Q20 V. UG 9¥03 V. & A oiig & [P UPR T 3IfEied gidTl 22

g-iron | c=mg

e y-iron / y-?ﬁ's’



e B-iron / B-?ﬁ's’

« 3-iron / 3-dg
Correct Answer :-y-iron / y-?ﬁ'&'
18)
Question Stimulus :-

Mechanical

The value of speed ratio in Kaplan turbine is kept at / U <dIg H a9 S{JUTd dT HIH §H
R Y@ ATl §

® 0.5/0.4
® 09/0.%
® 20/R.°
* 15/2%Y
Correct Answer :-1.5/2.4

19)
Question Stimulus :-
Mechanical

Which of the following heat treatment process is suitable to remove

strains caused by cold working? / Xdd &1 & gRT gfed fapfaal & R 89
fFrafafea & ¥ 19 @ w1 IR uikar Suge &2

« Normalizing / SIS0

e Hardening / %?.ﬂw

e Tempering / du+d

e all of the above / SURIad Tt
Correct Answer :-Normalizing / STHIRIT®RUI

20)



Question Stimulus :-
Mechanical

The operation of manufacturing wire from a bar is called: / T®h B$ ¥ drR

fmtor e Ft foban &1 Fgd &
« Rolling / S&T (M)
e Smithing / u1g o (fRIfAm)
e Forging / &@T8 (WIff)
« Drawing / YU (S15)
Correct Answer :-Drawing / YT (SI§T)

21)
Question Stimulus :-
Mechanical

Which of t-he following is correct for white cast iron? / 9 eddl e %ﬂ
frafafe & 3 @1 9t 82

 high compressive strength / 3 JUIsd &wdl
« more ductile / 3t THAY (SHRFA)
* high tensile strength / 3= J9& &HdT (AdT)
« all of the above / SWRIa |+t
Correct Answer :-high compressive strength / 3= ddte® &rmdr

22)
Question Stimulus :-
Mechanical

In a four bar chain or quadric cycle chain: / il_gl:ﬁ[-ﬁ%[ T AYdr feardt aw gdr |
® Each of the four pairs is a turning pair / IRl ¥ 9 TP JqH h uRadae Rt q¥ %



® Two is a turning pair and two are sliding pairs / 3 TP gRadaent gy ? ud &Y gy gy g
® Each of the four pairs is a sliding pair / IRl A d Ud® JiH Th oy qiH %
« none of above / SWIad A ¥ HIg g1

Correct Answer :-Each of the four pairs is a turning pair / IRl # 9 A& i Uh
TRadTeR 39 8

23)
Question Stimulus :-
Mechanical

Which of the following among the given options is a single point cutting tool? / frgfeafad faea A

A o1 W TP UHd fdg 3a 3R @2
e Milling cutter / U9UT BGH
* Hack saw blade / HTg BGP 3R
e Turning tool / BTA 3R
* Grinding wheel / gYUT Th
Correct Answer :-Turning tool /Eﬂ?F-I SR

24)
Question Stimulus :-
Mechanical

The difference between upper limit and lower limit of the shaft is known

as: / YR¥-d8 & SHd-FWT T 3reN-WAT BT R FEardn e
e Upper deviation / S e
« Lower deviation / 3¢t faae™
¢ Fundamental deviation / Jayd faad=

e Tolerance / Tfgwdr

Correct Answer :-Tolerance / '\‘I'I%WJ?IT



25)
Question Stimulus :-
Mechanical

In an ideal Brayton refrigeration cycle, the Refrigerant: / T& 3SRt s
witad I |, TRitas:

e Remains as a liquid throughout. / STENYid a_d 941 Ts'EIT%
« remains as a gas throughout. / 3TeNUid I g7 IgdT &

e Changes phase from liquid initially to gas. / URIY® a_d a1 A
A9 # ufvafda g v @

« changes phase from gas initially to liquid. / YRfY® T 3@&T A
_a o ufvafda gt wiar 8

Correct Answer :-remains as a gas throughout. / STeNyid T §971 ¥gaT @
26)
Question Stimulus :-

Mechanical

For the complete combustion of carbon the required air will be about............ / TR (aﬂﬁq) & TJf
35 8, ISP arg e U

e 2.67kg/R.80 fHuT

o 12.7kg/%R.\0 fobu

* 11.6kg/2%.8 fbu

e 14.5kg/¥.4 fum
Correct Answer :-11.6 kg / 2%.& feur
27)

Question Stimulus :-

Mechanical



The cold working in which hardness of work is increased, is called: / aa

&1 forad $1d $t HORdT Fadl 8, 98 Peardl o:
e Work-hardening / am‘-ezﬁw
« Age hardening / 3] EIHUI
e Flame hardening / ﬁl@TE‘GﬂW
« None of the above / SWRIa # | &I a1

Correct Answer :-Work-hardening / STd-g¢I®R01

28)
Question Stimulus :-
Mechanical

Which of the following material is NOT used for cutting tools? / fFrafeifad AP a¥q ol
SUANT S SR g 8! sidr

® (Castiron /mf?ﬁ?
® High Carbon steel / 3 TR (W) eId
® Tungsten carbide/iig'l_g' (TEA) mﬁs
® High speed steel / 3= T HId
Correct Answer :-Castiron /GTdl @lg
29)
Question Stimulus :-

Mechanical

Due to slip of the belt, which type of condition occurs in velocity ratio of the belt drive? / tl%' &

firae & PRI, UgT T1a® & A U J fhd YR 31 a1 ST gt 82
® jtdecreases / TI?E'I'\‘[@T‘IT%

e itis first equal and then it Increases / g UYHd: HHIH Igdl % Td
duYTd gg afta giar 8



o it first decreases and then it increases / g UYHd: &I ﬁ?ﬂ % Td
duyTd gg aftdd giar 8

® no effect on the belt drive / UST AT UR ﬁ'{ YU el gsdl
Correct Answer :-it decreases / dg &Id ﬁ?IT %
30)

Question Stimulus :-

Mechanical

The flywheel of a steam engine has mass moment of inertia 2500 kg-mz. If
the angular acceleration is 0.6 rad/s2, what will be the starting torque

required? / & aTSAIierd §oi- & HIRTH (WITS IdT) BT SHH IS ATl § 3400
kg-m2. afe Hivfta @R 0.§ rad/s?2 B, Ot AMTaGP URTUS Yui-ga w1 SHIT?

e 2500 Nm / 4o Nm

e 2000 Nm / R0o0oo Nm

e 1850 Nm / 2¢4%°o Nm

e 1500 Nm / 2400 Nm

Correct Answer :-1500 Nm / 4o Nm

31)
Question Stimulus :-
Mechanical

From iron carbon diagram, which of the following steel contains 0.8 to
1.5% carbon? / @g-UNR (@®1d) Y@ I, Fufafaa d A fpa sma d o.c @
2.4% TP YRR (PHTa) TgdT 82

e Low carbon steel / 79 YR s3urq

e High carbon steel / 3 UITR 3T

e Medium carbon steel / % YRR S¥UTd

e Mild steel / {g SHUId



Correct Answer :-High carbon steel / 3@ UTR ST

32)
Question Stimulus :-
Mechanical

What is a Rotameter used to measure? / JTTHIEI FT YA H U9gd gidT 82

 Potential energy stored in a spring / U&® HHM A HeTiva Rufaw
Y|

 Rotational speed of a shaft on a workshop machine / f&<t

DRI 97 W Ry ¢fi-ds &1 guiv o
« Amount of torque applied / WJad 3TYUI-g& HI AT

* Flow rate of liquids or gases in a closed tube / T® 95 AfreT A
aRdl 3rYar AT BT Ya18 o3

Correct Answer :-Flow rate of liquids or gases in a closed tube / T dx

AfereT # aRel ST T4 BT YaTs &)
33)
Question Stimulus :-
Mechanical
The range of optimum pressure applied in electric resistance welding is
given by: / dgafa® ufRIYy Srams & W fiead a9 & RAWR €1 39¢ gRI
NIGH %:
« 0to5 Mpa/ 034 Mpa
e 5t0 10 Mpa / 4 20 Mpa
« 10 to 25 Mpa / 20 I 4 Mpa
e more than 25 Mpa / 4 Mpa ¥ 3ferew
Correct Answer :-5 to 10 Mpa / 4 0 Mpa

34)



Question Stimulus :-
Mechanical

If the additional air is forced under ressure |nto the engine cylinder then
the process is known as: / ﬂﬁsﬁlﬂf%lﬁl@? H g W&Iﬁﬁﬁmuﬁ'ﬂﬁ?ﬂ
WY, <Y T8 ufthar Sgard g:

e Turbulence / fagniy

« Compression / Tl

« Supercharging / 3ifd-3maf3a g

« Exhaust / Y99 (o)
Correct Answer :-Supercharging / Giﬁ-f-&rraﬁl?[m
35)
Question Stimulus :-

Mechanical

The rate at which the heat is absorbed in a cycle from the interior space to
be cooled is called as / 5/ &% &R Maa 3q AR U A TH T6 A ST

3raifya g1t 8, 98 Heard g
« Thermal efficiency / SSHIT HTA&HAT
 Refrigerating effect / URIGE RN G
« COP / Wtafidi
e None of the above / mﬁﬁﬁﬁﬁﬂﬁ

Correct Answer :-Refrigerating effect / PRIGE RG]

36)
Question Stimulus :-
Mechanical

The correct sequence of stroke in a four stroke engine is: / T® dg40I (ﬂ”ﬁ?

wIH) o | TR BT Ll 9 &



e suction, compression, exhaust and expansion, / JUUI, R‘i‘ﬂtﬁﬁ,

o Td 7R (fTwR)

e expansion, compression, suction and exhaust / UdR, H"CﬂZf'F-r,
CGERCRE G

e suction, compression, expansion and exhaust / qUUl, '\‘iﬂ’l—s.'-'-[,
TR T4 e

e suction, expansion, compression and exhaust / qUUl, YRR,

Tuis ud Ao

Correct Answer :-suction, compression, expansion and exhaust / JUUI,

¥disq, YOR v Ao

37)
Question Stimulus :-
Mechanical

What is the concept of Newton’s first law of motion? / <+ & Tfa®t & YYH ﬁl@'ﬁ
D1 TURN T §?

® Force / 9

« Internal Energy / 3idR® Sl
e Inertia / visd

e Work / BT

Correct Answer :-Inertia / SiIsd

38)
Question Stimulus :-
Mechanical

The indicated power of SI engine is measured by: / TH3§ s &I gfud fea
9% gIRT ATY STl 8:

 Ultrasonic test / RIS Iteor



e Tensile test / FHAIAGT (d=adr) qteror
« Morse test / HI¥ UIT&ur
« Dynamometer test / STSATHIHICT URI&UT

Correct Answer :-Morse test / e TItequr

39)
Question Stimulus :-

Mechanical
For a perfectly rigid body, the Young Modulus of elasticity is equal to / T Zﬁﬁq B fiss ﬁnz,
WATRIAT BT W HIgqd 39P TH B¢

® One/Udh

® Zero /Y[

® Infinity / 3R

® None of the above /m | aﬁ'é qﬁ
Correct Answer :-Infinity / 3&1H
40)
Question Stimulus :-

Mechanical

Stoichiometric ratio for efficiently running of an engine is: / f&dt o4 &

FAAAYdP P P og WIS FJUTd 8:

e chemically correct air-fuel ratio by volume / IS FUH
31D ATaa-1-3MMUTRT arg-34+ 3ruTd

e actual air-fuel ratio / RAd® AG-3YU U

« chemically correct air-fuel ratio by weight / I9IA® ¥4 d
&P UR-STYUTRT aRg-34 U1

« none of the above / SWRIad H I &I 6l



Correct Answer :-chemically correct air-fuel ratio by volume / I™AM® ¥4

| TSP S-SR arg-34= 3T
41)
Question Stimulus :-

Mechanical

When the lift is going down freely, the apparent weight of the man compared to the original weight

is: / o9 STU® (1) Wesg +U A ufad ) ¥eT 8, safd & qrafdd YR & ga-r o
I9PT Udid YR &:

Less / g
More / 3t

Equal / HHTH
None of above / SWied § 4 ﬁ'{ qﬁ

Correct Answer :-Less / -

42)
Question Stimulus :-
Mechanical

All the four strokes of an engine is completed in revolution/s of
thegrankshaft/sﬁﬁa?mﬂawwamm% ufvspaor  qof gt
o ]

e one / TDH
e two /33[
e three / 99

o four / IR
Correct Answer :-two / 33[

43)

Question Stimulus :-



Mechanical

%he application of gas laws are limited to: / e Rrgial & uanT ERIGED Hifta

gases and liquid / 9 U9 @’

steam and liquid / 99 Td dRd
gases alone / Fad 9

gases and vapours / T Td ary

Correct Answer :-gases alone / $ad T

44)
Question Stimulus :-
Mechanical

Fly wheel is NOT the part of which of the following machine? /ﬁ'ﬂﬁ'@ﬂ A A {5 g &7 307

HR-AfpeT (FEETA) T8l 82
e Steam engine / AT Sold
* Gas turbine / T TS
* Fly press / TRITg 9T
* Lathe machine / @RIG (AS) I
Correct Answer :-Lathe machine / WRIq (a'c{) gd
45)
Question Stimulus :-

Mechanical

The ignition of fuel in a diesel engine is caused by: / W@Wmﬁfiﬁ Cd)

284 3P PRI gidl &:
 spark plug / T &I
« compressed fuel / GUf3d =



 heat resulting from compressed air that is supplied for

%ombustion / AiifEa arg | frfa arv e g4 8q Smyfd forar siran

e air fuel mixture / EIT{Z{%‘EF-I fRrgror

Correct Answer :-heat resulting from compressed air that is supplied for

combustion / Jif$a arg | frfa ara Tt g8 7q mufd forar wmar @

46)
Question Stimulus :-
Mechanical

The brine is an aqueous solution of ...... in water. / dIg oid A &1 g
faea= 8|

sodium chloride /ﬂ-ﬁ%’qﬂ a?—ﬁﬂss
calcium carbonate / FPfeRrgH HrEHe
sodium bicarbonate / aifsaw E'Ig?ﬂﬂﬁ?
® magnesium sulphate / AN gathe
Correct Answer :-sodium chloride /?ﬁ%‘tm m

47)

Question Stimulus :-
Mechanical

Efficiency of Qtto engine is than the diesel engine / 3fict go )
FRITT SoTd 599 | gl

e more / 3P

e less / g

e equal / IHIA

e none of the above / mﬁﬁﬁﬁiqﬁ

Correct Answer :-more / 3if%®




48)
Question Stimulus :-
Mechanical

Triggering fission is more effectively caused by _ __ moving neutrons.
/ fagea ((em) sTuRy __ wifus FPRAmyy (|get) gRT 8iftre yuTdt =0 9
gfed giar 8

fast / gd

slow / UG

very fast / 3ifd ga

very very slow / @& Hg
Correct Answer :-slow / H¢

49)

Question Stimulus :-

Mechanical

In a press operation, the required clearance between punch and die to shear a steel plate of 1Imm to

2mm thickness is / T GTae YTl #, T ¢ forell. @ 2 firedt. Wierg & geuma ugt & & 8
VeGP Td 1A & A ATGAP IR §

* 0.05 of thickness / AICTS T 0.0Y4

® 0.15 of thickness / AICTS &T 0.34

® 0.20 of thickness / HICT§ ®T 0.30

e 0.25 of thickness / Iﬁ?lg BT 0.4

Correct Answer :-0.05 of thickness / Iﬁ?l‘;{ [ 0,04

50)
Question Stimulus :-

Mechanical



When in motion, the friction experienced by a body, is known as: / SId LRI G Eﬁ, a9 feddt fis
ERT YA v HEera &:

® Limiting friction / ufases gyur
® Dynamic friction / Tfa=iie afor
e Static friction / fTRIR (3del) gyur
® Kinetic friction / Trfarst aefor
Correct Answer :-Dynamic friction / Tfarefte adur

51)
Question Stimulus :-
Mechanical

The ratio of base circle radius and pitch circle radius in an involute gear is

gqualto:/waﬁﬁWﬁmmqﬁﬁwqﬂaﬁﬁﬁwmm LEIE|

sin‘:b/G!IITdj

cos ? / oar ¢
tan ¢ / Wxfer ¢
cosec¢/w¢’

Correct Answer :-cos i / A $

52)

Question Stimulus :-

Mechanical

What is the unit of angular acceleration? / BN @R B Eﬁ?lg T %?
* N-m?

* m/s



° mZ/SZ
e rad/s?
Correct Answer :-rad/s?

53)
Question Stimulus :-
Mechanical

Which of the following characteristics are correct for throttling process? /

frafifed & @ o1 @ [ diefeT ufshar &g wE! 82
« heat transfer / AT RITHTARUI
e work done by expanding steam / yaReNe arsy gRT foar ar e
e change in internal energy / an?'rﬁaawrfﬁ'm

« none of the above / IWIad § ¥ &I a8l
Correct Answer :-none of the above / SWRIaT | 4 aﬁz{ T-F(ﬂ

54)
Question Stimulus :-
Mechanical

In a steam turbine, the critical pressure ratio for ir_|itial dry saturated
steam is given by: / T® qIW eXqIs H, URFUS Y Tix a1 gd fA9H q1d U
P GIRT SRATAT ST 8

e 0.545 / o.k¥Yy
e 0.577 / 0.4V
e 0.585 / 0.4kl
e 0.595 / o.4RY
Correct Answer :-0.577 / o.4KL0

55)



. 4

Question Stimulus :-
Mechanical

A rotor supported at A and B qarries two masses (m). as shown in the
figure. The rotor is: (E) / faF ¥ G214 3EUR A Td B W Higd U& guie g saqq=
(m ) 989 FaT 8| 98 Ui &

i
r
A B
CLF
i

Not balanced / Hgferd &8l 8
Dynamically balanced / 7ifa=ita &0 & dqfera

Statically balanced / 3[€@d U J Hqfad

Statically and dynamically balanced / 3€@d T4 Tfa=fiid &4 4

Hferd

Correct Answer :-Statically and dynamically balanced / 3/[@d T4 LGRS
| wgfera

56)

Question Stimulus :-

Mechanical

Second law of thermodynamics defines which property among the
following? / Fufafad # ¥ ®19 W faxivar (7on) & SwFfad! (SR o1
fedta Rrgia ufvura swar 82

e Enthalpy / guitsHT (ardta enfear)

 Equilibrium / dda- (ATHTGRIT)

e Entropy / 3chH



« Internal energy / A& el

Correct Answer :-Entropy / 3chH

57)
Question Stimulus :-
Mechanical

In a household refrigerator, the cooling is achieved by: / T® Eﬁﬂ PRIGED ﬁ',
9% gRT Xiaaq ure fear s 8:

 evaporator / TISH
o driers / Wif¥F
« compressor / SNIsH
« condenser / J99®
Correct Answer :-evaporator / CHLES

58)
Question Stimulus :-
Mechanical

The initial tension in the flat belt drive is given by: / dUIc Ugl dTd® A URfY®

d-ITd B SHS gIRT SRITAT T4l 8:
« Tension of tight side / ¢ BR &1 914

Tension of slack side / RIfYd IR &1 919

Average tension of tight and slack side / ¢ Td fda Rl &1
3d a9

Product of tension of tight and slack side / ¢ Td RIfd@ aRI &
GEICECIRINEL Y]

Correct Answer :-Average tension of tight and slack side / £¢ Td e sl
&1 3fHTd a1



59)
Question Stimulus :-
Mechanical

The desirable properties for any practical fluids: / f&=dt ft a~afd® e gq
gio-g faRivan §:

 should be viscous / el 8T AR
e should possess surface tension / Yg ddId HEICHEHY
« should be compressible / Hds9 g7y giAT A1fgT
« all of the above / SWRIad |+t
Correct Answer :-all of the above / 3Wiad 9

60)

Question Stimulus :-

Mechanical
A redundant frame is also known as frame. / Th Hfafvad (SATEGP) ITAT
(FEe) W wgamar g1

® an efficient / Th AETfaRa

o adeficient / TS YUl (SIHTAY)
e an imperfect / T& FIfeyu
® 3aperfect / Qﬂ?gﬁﬁ:{

Correct Answer :-an imperfect / T& Ffeqof

61)
Question Stimulus :-
Mechanical

The multistage centrifugal pumps are used to obtain: / TgTRUT UBI G BT
SUGRT 98 U 3+ o aidl 8:



« high discharge at high head / 3@ ¥ W 3= fA=R0r
e high head / 3= =it

« high efficiency with high discharge / 3@ fA=Rvr Ofgd 3=
Cautaen)|

« pumping of viscous fluids / T¢ a3l T YRR
Correct Answer :-high head / 3= 2fi¥1

62)
Question Stimulus :-
Mechanical

In simple harmonic motion , the ratio between the displacement of mass
and its is constant. /Wana?frrl%rfr S & fORITYA vd 59

ST SUTd FRIX BT 2
e frequency / TgfI
 time period / 9HY 3(AfY
« velocity / 3

e acceleration / 0T

Correct Answer :-acceleration / 30Ul

63)
Question Stimulus :-
Mechanical

One liter of water occupies a volume of: / Th e o AT TIdA GI'&I"JIFUT G %
e 100 m3 / %00 Hi?
* 1000 cm3 / %000 FHRR

e 10000 cm3 / %0000 JYHRR




e 100000 m3 / Qooooo HI?
Correct Answer :-1000 cm3 / 2000 JHI?

64)
Question Stimulus :-
Mechanical

The best example of heterogeneous system is: / fAUHRT &3 &1 JdIH IERUT

E

Atmospheric air / agHSA d1g
Mixture of hydrogen and oxygen / Eﬁ?ﬁﬁﬁ Td Mo &7 fayor

Cooling fluid in a radiator / T& fafer® (If$VeR) & dRa &1 Maa=

Mixture of ice, water and steam / fg§H, 5@ Td arw &7 fHyor

Correct Answer :-Mixture of ice, water and steam / fgH, 7@ T4 aroq &1 fArgon

65)
Question Stimulus :-

Mechanical

In one dimensional flow, the flow: / TPH-3TATH U4aTg §, UaTE:

e is a zig-zag flow / T®h Tﬁﬂ (Hﬁﬁ) Udle %

e takes place in straight line / IXa ¥@T § 9fed giar &

e takes place in curve / d%p ® °fed gidT @

e is steady and uniform / 3ifaad Ud Y g
Correct Answer :-takes place in straight line / 93d ¥@T # °fed gldar1 @
66)

Question Stimulus :-

Mechanical



If the number of links in a mechanism is 8, the number of pairs would be:

/ afe fost foranfafts & »feat 91 e ¢ 7, df gl o1 d@r gim:
*6/%&
e 8/¢C
e 10 / 20
c4/%
Correct Answer :-6 / &

67)
Question Stimulus :-
Mechanical

The application of Hooke’s joint is to connect: / §%'H Y &7 YT 98 Yo

H g BT B:
two parallel shafts / & AR YR1-E8
two intersecting shafts / g RERw4! YEi-¢8

two non-parallel intersecting shafts / &l SHIORTA RERTS Gl

Y{-ds
none of the above / SWRIGT A I ﬂﬂ% el

Correct Answer :-two non-parallel intersecting shafts / & IR

REREG! Yi-ds

68)

Question Stimulus :-
Mechanical

The coefficient of viscosity may be observed by: / AT-dIl & 1:[l'-"IT'I'Iﬂ? CIRUC I Eﬂa? gRT
far w1 Jwn 3:

e capillary tube method / HirpT AfereT fafyr

e orifice tvpe viscometer / ¥ YBR IS (famider)



® rotating cylinder method / Wﬁ?ﬁﬁaﬁﬁﬁl
e all of these / IWIad I

Correct Answer :-all of these / IRIad g

69)
Question Stimulus :-
Mechanical

In heat treatment processes, which process is used to hardened steel
quickly? %/ ST TR ufspar #, sTurd & Mw Tdiewur 3q S A ulthar &1 SuahT
o <imar 82

e induction hardening / UYad- (SSaRM) TIHUI
e nitriding / ATSETS (&
e cyaniding / '\“qu'HE'%"T
e carburizing / EFR@TIE‘%FT
Correct Answer :-induction hardening / udd- (FSRMA) E'Gﬂ?TQ'UT

70)
Question Stimulus :-
Mechanical

Condensing temperature in a refrigerator is the temperature / IE R RIIGED
H YA Y 9§ 999 ST 8

 of cooling medium  / Xfida HIYOH &1
. of freezing zone / feHi®Rur &1 &1
« of evaporator / 9IS &1

« at which refrigerant gas becomes liquid / 5/ IR u=fla® 19 @*a

HECIGIA

Correct Answer :-at which refrigerant gas becomes liquid / o9 W uxila®



A9 9 & ST @

71)
Question Stimulus :-
Mechanical

Which of the following property is increased by adding sulphur in steel? /

T ¥ e & e gRT e & § S5 3 o1 &) aftfa fear s @2
hardness / HoRdl

corrosive resistance / &URIRUT

wear resistance / 3U¥gd Aferar

machinability / G&H agdT

Correct Answer :-machinability / T3&H gRgdr

72)
Question Stimulus :-
Mechanical

The pressure measured in a piezometer tube is determined by: / Th TﬂTrﬁ'mE? AfereT | AfUT
<1 I 39P §RT 914 fbar o &t

e N/mm?2

e N/m?
« Head of liquid / a3 &1 Y
e N/cm?2
Correct Answer :-Head of liquid / CEGEa kL

73)
Question Stimulus :-

Mechanical



Which of the following is used to produce seamless tubes? / fufafea d 9
fra Warfea Afaeet & Sarea § Iyt fHar Srar 82

« Two high rolling mill / & 3 &9 T4
 Piercing / @T:F-I
 Ring rolling / CRUICOE]
* Forging / a?n'é
Correct Answer :-Piercing / %‘c{-‘-r

74)
Question Stimulus :-
Mechanical

Fluid flow in a straight circular pipe is typically turbulent in nature when
the Reynolds number (R.) is / T® B9 MATPR AfADT H ORA BT YaTg a9 AT 0D

Y { IR gl & 9 YATes TS (R ) &
e 2000 < R < 4000 / 000 < R < ¥o000
e Re < 2000 / Rg < 000
e Re > 4000 / Rg > ¥oo00

« None of these / §9H ¥ &I gl

Correct Answer :-Rg > 4000 / Rg > ¥oo0o0

75)

Question Stimulus :-

Mechanical

Tangent to a is normal to_an involute in involute teeth

%%z:r%s. / TF R TRl U Sifed (U9eR) g ddds & U& Ud IR uiad
I

e base circle / 3TYR qxi



« deddendum circle / Wera® (f&S=u) g4

e crest circle / ﬁl@'\'ﬁ

e none of the above / Wﬁﬁﬂﬁﬁqﬁ
Correct Answer :-base circle / 3R <

76)
Question Stimulus :-
Mechanical

Which is copper free alloy? / &9 9T fiyg 919 g 82

e Invar / 4Rk
e Brass / UG

e Monel / A
e Phosphor bronze /[ HRdR ™
Correct Answer :-Invar / SdR

77)
Question Stimulus :-
Mechanical

Which of the following screws is termed as a machine screw? / frgfafaa A

¥ frd TueR Flae (Tp) o1 g (A=) TP Fel 1T 32
e coarse pitch threaded / $HY I UIER
« plane slotted head / JUIC @WHER RR
* headless / R Ifgd
e stretched threaded / a9 §3fT UdgR

Correct Answer :-plane slotted head / dUIC WrieR R



78)
Question Stimulus :-

Mechanical

In thermodynamic cycles, the Otto Cycle is represented by which of the following T-S diagram /

YA Tni |, Fafefad A @ feg d-uvg Yaim gR1 sifel T &1 gxiiar S &2

T
* 1 2
4 3
—_— 5
([ ]
T
E 3 1

Constant

2
,.;7’ volume /TEMY Hrade

Constant

volume /T8 A+

 ———— ]



Constant

pressure / IUY g

Constant
volume /T 31ad+

Correct Answer :-

79)
Question Stimulus :-
Mechanical

Which of the following is NOT the part of roller bearing? / Fafafea & 9 7
TS AR AN BT 3T 81 82

e inner race / 3ATAR® I
e outer race / 9T
e shaft / -3
e cage / fior
Correct Answer :-shaft / §31-¢8

80)
Question Stimulus :-

Mechanical



The relationship of efficiency of Carnot cycle and Stirling cycle is: /EF'Fﬁ Ieh Td TefeliT Ip &

HRIGIIEAT BT HIY B:
* Notequal / T% HHH T8l &
* Twice / SO
® equal /TP HHAA
« None of the above / SWRIad # ¥ &I a1

Correct Answer :-equal /TP HHIH

81)
Question Stimulus :-
Mechanical

Lathe beds are produced by which of the following production processes?

/ FFafafEa § @ o9 9 Iared ufkar @ WR1E (Tha) STYR () gd 82
« Rolling / @9 (IAfeim)
« Forging / TTgT$ (WIfSiT)
« Drawing / SYUT (SIST)
« Casting / T@IS (HIET)
Correct Answer :-Casting / TdT3 (P1ET)

82)
Question Stimulus :-

Mechanical

Which is NOT the part of drilling machine? / ©e (f$feir) o &1 3iv1 &1 1Y

8?
« Spindle / @t (fRisw)
e Tool holder / 3fI¥IR YRS
« Table / A9 (¢99)



« Cross slide / 3(TST GX®H (P19 FISS)
Correct Answer :-Cross slide / 3TST ¥ (?ﬁﬂ HIRS)

83)
Question Stimulus :-

Mechanical

In the relationship of pressure and volume PV"=Constant, if the value of exponent n = 0, then the

process is: /W@W%Wﬂﬁ PV“=3'I?-I?[,'€I'%‘EI'I?T niﬂﬂﬁn=0,?ﬁ'€|3m%:
* Isentropic process / THIGPUT UfehdT
® |sothermal process / WTlﬂ m
® constant pressure process / RRr qld yfeear
® adiabatic process/m (E'%Gl'a?ﬂ'a?) uferar
Correct Answer :-constant pressure process / Rr qld uferar

84)
Question Stimulus :-

Mechanical

If r is the radius of the shaft and tan P is the coefficient of friction, then
the radius of friction for the shaft rotating in bearing is given by: / afe r

e rsin® /rwa?

e rsec ® / r®ifesar ¢

* r cosec ¢'/ ragamw¢

« None of the above / SWRIad | & HIg A8l

Correct Answer :-r sin ¢ / r i ¢

85)



Question Stimulus :-
Mechanical

For the calculation of real temperature in thermodynamics the value of absolute zero temperature is

considered as / SSATYARIPT § aAfd® dTUH & 0T & T, gt T (TsHTEYE SiRY)
dTYHTE S 719 98 HIET ST 8

e .273°C/-393° .
e 283°C/3¢3° 9.
¢ C
e 293°C/3%3° 4.
Correct Answer :--273°C / -393° 9,

86)
Question Stimulus :-

Mechanical

Application of Gantt chart is for: /'Pf? RO BT T Y %ﬂ %:
® Material handling / AT gdglR

e Production schedule / 3dIgd \’ﬁﬂ?ﬂ (W)

® Machine repair schedule / 4 STUNGIR ».’rlﬂﬁiﬁ (PTIHH)
® Inventory control / d¥q IEUEL]

Correct Answer :-Production schedule / 3dig Glﬂ'ﬂ?ﬁ (FTdIHH)

87)
Question Stimulus :-
Mechanical

Gear drive is than belt drive in power transmission / ¢wi-
TP TP Tad IR (FEITAR0T) H UST-TAD o

« more efficient / 3if¥[® J&H (FATUICH)




. less efficient / &H T&H (FAUICH)

o equally efficient / IHIT T&H (Tﬁ'ﬁm)

e None of the above / :mﬁaaﬁﬁﬁs‘qﬁ
Correct Answer :-more efficient / 3if& T&H (WﬁW)

88)
Question Stimulus :-
Mechanical

Which of the following fasteners are used in flange coupling? / UT%f'\‘iﬁTrF-l H
Frafafaa d @ 19 91 du- ST TN 3T 32

« Screws / UdgR $Ia® (TP)

« bolts and nuts / diee T4 ¢

e Rivets / f¥ae

e None of the above / mﬁﬁaﬁiqﬁ
Correct Answer :-bolts and nuts / diee Td A¢

89)
Question Stimulus :-
Mechanical

Which of the following is included in power transmission? / TIfed SARUT
(gxdiarn) ¥ Ry d ¥ wur gfwrfd gar 82

 counter shaft / A& (FT¥eX UMW)

¢ line shaft / Y@ Yids (A3 IMR)

« Overhead Shaft / RRIT (RIS (3MaRes ATWR)
« all of the above / Wi 9+

Correct Answer :-all of the above / IRIET g



90)
Question Stimulus :-
Mechanical

In limit fits and tolerances for assembly 100H6/g8, H6 is the designation

of: / FHIS 200H6 / g8 Y HHT SUTISTdT U9 IIRW[T |, H6 TP I &:
e Hole / fos
e Shaft / {1-38
e Interference / gwea'q
« none of the above / IWIaT H ¥ &I a8l
Correct Answer :-Hole / f%

91)
Question Stimulus :-
Mechanical

In various geometry of the product, stress concentration factor depends

on which of the following condition? / 3dI¢ & 3% Arfafd §, fAgfafea A @
P19 Hl AR W T Figdl ged fAHR Har g2

Variation of geometrical cross section of the part / 3¥ &

AT U-UR=dq BT 3R
Quality of the part / 3i=T &1 UG

Uniform geometrical cross section of the part / 32 &1 JHFY
SR SuRI-uwe

None of these / mﬂﬁﬁﬁﬁﬁﬂﬁ

Correct Answer :-Variation of geometrical cross section of the part / AP

ST SUR-URwde 3T 3R

92)

Question Stimulus :-



Mechanical

Which of the following condition is correct for the velocity of belt, when it

transmits maximum power?/ FgfiafEd § & 9 W s g & a7 & forw 91 B,
o9 98 AfUHaH faa GAIRd (S¥AAIRd) Hal 82

e (T/Mm)/2 /7 (T/m)1/2

« (2T/m)1/2/ (2T/m)1/2

* (T/3m)/2/ (T/3m)1/2

« none of these / SWIgd # I HIg !
Correct Answer :-(T/3m)1/2 / (T/3m)1/2

93)
Question Stimulus :-
Mechanical

Silicon is added in low carbon steels to increase Property /

1 5 ¥ e A wiR (1) sxura | dean (Rifere 1) framar simar @
Hardness/ib_cﬁ??ﬂ

Brittleness / WIRdl
Porosness / 93Ydl

Softness / CAE GG

Correct Answer :-Porosness / I38[dl

94)
Question Stimulus :-
Mechanical

The functioning of jet propulsion engine: / ST Yulie go &1 fora:
« does not depend upon presence of air / I & UG W R

el Bl



e the propulsive matter is ejected / WoNe® a¥q fHafud g wmar 8

* the propulsive matter flows around the propelled body /

YUiige 9 Uvilfed fis & dx yaifed giar @
e none of the above / mﬁﬁﬁﬁiﬂﬁ

Correct Answer -the P ulsive matter flows around the propelled body /
Hulie® a%] uvifed fus ;l?:ll':r yarfed

95)
Question Stimulus :-
Mechanical

Which of the foIIowm%pattern is suitable for mass production of any

product? / f&dt i I gd Mafarad § 9 &9 91 o=y Sugad 82
« Single piece pattern / T&d Ws fa=ar9
« Cope and Drag pattern / JTHoRY Tg HYUT f3=ar9
« Match plate pattern / fia™ ufg®r fa=amw
e none of the above / B’qﬁﬂﬁﬁ'\ﬁ?ﬁiqﬁ
Correct Answer :-Match plate pattern / foream= q‘@?ﬂ =

96)
Question Stimulus :-
Mechanical

The centrifugal type of rotary compressor is used in: / ‘qph Jis® (ﬁ?ﬂ
HUM) & AYP~<] YR BT IUURT SHA gidT 8:

Boilers / &4 (W)
Gas turbine / ﬁﬂmlsﬂ

Cooling plant / Xfidaq ¥4F
none of these / IWRIad | ¥ Bl gl



Correct Answer :-Gas turbine / kS| g

97)
Question Stimulus :-
Mechanical

100 percent volumetric efficiency could not be achieved in reciprocating

compressor, because of: / 3% BRI, UATWTH! THSH H 200 Ufd=Td AT
(3maaY) Hrdear ute T81 8 gbdl:

the compressor superheat / ddis® 3ifaamny

the pressure drop across the valves / PUC! (dred) ¥ gIee a9 o
'l

the leakage of the gas / 9 &1 Ry

all of the above / IWRIad i

Correct Answer :-all of the above / IURIaT 9

98)
Question Stimulus :-
Mechanical

Volumetric efficiency of a compressor, _ with increase in

compression ratio / f&d Siis® &1 At FrieHar, YIS ouE § gfg & 91y

o increases / aftfd gldar @
e is constant / R &

o decreases / E'IW@HT%
« none of the above / SWIa & A &l 8l

Correct Answer :-decreases / &g '&ﬂ?IT %

99)



Question Stimulus :-
Mechanical

I.C. engines are usually supercharged by: / en-é qt. ol JIYRUIA: WQ'RT
Jafie MARE (&marEyT) g |

e rotary compressor / q:Uf!TFIT-'-I Wﬂﬁ
« radial flow compressor / Gl YdIg ANSH
« roots blower / H& &1
« axial flow compressor / 3i&4 yarg diis®
Correct Answer :-radial flow compressor / STt Udlg H‘lﬂﬁ

100)
Question Stimulus :-
Mechanical

The application of control chart in industrial engineering is: / NNfre
RIS A Ao ARl &1y g:

e to control inventory / a3q fFRIFUT &1
e to schedule production / SdTG qAf-AIToTd HIAT
« for preventive maintenance / Ufd®R® IW@IW@E %‘g’

 for material handling / R‘lﬂ‘)ﬁw%ﬁ

Correct Answer :-to control inventory / 9] o S



